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HTHT=T 7597 :

HETICTRET 145911 %1 agd GIae] & 9igq 3K 371 dxed] & YIer Iy :
(i) 39 ¥97-97 4 34 397 3 | @t yo7 srfAard & |

(ii)  IoIP o7 B 3P 3% T 3Hd & |

(iii) IR Glered a9l I§5aR &1 =g /|

(iv) 8 3Pl & Jol & I 50 @ 75 Jeg] 7 for@ 7 Fizw |
() 4 3P & FHI & I AT 150 Fec] § for@ S =ilze |
(i) 6 37h] & FFI & I TTYT 200 F5g] 7 7@ S =fay |

(vii) 9% 97 & YT YT & I U FIg 7@ S TiieT |

o7 &7 1 & 20 T TFlEwedd F97 (MCQ) &, 15774 J3i% #11 37% 8 | 20x1=20

1. Tga e famee & ofm, e AR T8 TR a9R | B 8, H B
ST FTEAT 8 | ITRT FIAM g Toh wfosy # 31ell 1 qod &g T | 39 39
@ U 38 -8 IR | SHET 916 2

(a)  Hal dNR
(b)  IAMH TR

(c) TediFes IR

@)  (b)TeAT (c) T

2. Tfafegd # 9 s-w1 wrd™ vhayfd wa foftma 9 &1 v fohe o g 2
(a)  SfaYfd ISR o FEIEll s TiRrEo

(b) IfaYfd IR H 39T (TE) =l i qAT SFGER digal i AicdTzd
<h{Hl

(¢)  THasmes wRer o fiw svew 33T
(d) HY qAT AT AR JAT3T S U™
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B

General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  Marks are indicated against each question.

(iti) Answers should be brief and to the point.

(iv) Answers to questions carrying 3 marks may be from 50 to 75 words.

(v)  Answers to questions carrying 4 marks may be in about 150 words.

(vi) Answers to questions carrying 6 marks may be in about 200 words.

(vii) Attempt all parts of a question together.

Questions 1 to 20 are Multiple Choice Questions (MCQs), carrying 1 mark
each. 20x1=20

1. Rahul wants to buy shares of ‘Rexter Ltd.” which are being traded at the
National Stock Exchange. He feels that the share prices will go up in the
future. Which market should he approach for this purpose ?

(a) Money market
(b)  Primary market

(c) Secondary market

(d) Both (b) and (c)

2. Which of the following is a development function of Securities and

Exchange Board of India ?
(a)  Training of intermediaries of the securities market

(b)  Promotion of fair practices and code of conduct in the securities

market
(c) Undertaking steps for investor protection

(d)  Prohibition of fraudulent and unfair trade practices

66/3/2 ~~~~ Page 3 P.T.O.
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8. HY7I: I GUN H ARKAl o Ad8R o e G 9w 8id 8 g amm=
g qem fagral & MgR W i qifedfadi W Iy o qvErq s
ST 2 |

FYTI] : TG o THGAI I AN hId THA, AT sl ATEAT T8l <l ST Hehel!
FIfh IE™ I AN o Ifd GrETieies qur Afdes IAerRcdl i
fodgd w1 BT 2 |

Fr=r feu U foereul # 9 wE) faeheq o1 == v .

(a) HITITT g 91 I1 379 2 |

(b) HIIIHT 8 dAT I 379 2 |
(c) Tl %Y T B |
(d) I hH IEA 7B |

4.  Ydaq Uy =1 98 dw 590 S9ar F 990 8 s hl Sf9 dun 39 SR
ICATET o A qT TV 7g (i HrishA Affdfad 8, B

(a) AHTd Tashd

(b)  SE9Ih
(c) Touum
@) fora gadgq

5. ufaqfodl @l s w9 § @ Wk uiwar fasiifohier weard @ |
fafafga & 9 sia-a1 e faifadhieno & gefiq 787 8 2

(a) 3TN hT Ueh Uehdd WId o HILIH 9 Tgsl &0l qT IR H9eH
(b) e Tfayfai i k0T o o faw &1 a1 TRdt w@r 1 aehal 8
(¢) IR JHIUYAT <hl BT, TR 1G] QL] bl his GaU &l

(@ Toemm Wi 31T 1 Soifades &9 § giEfad A&l foham S dehar 8
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3. Statement I :  Values are general rules for behaviour of individuals in
society formed on the basis of common practice and

principles after research in work situations.

Statement II : While practising principles of management, values
cannot be neglected as businesses have to fulfil social

and ethical responsibilities towards society.

Choose the correct option from the options given below :
(a)  Statement I is true and II is false.

(b)  Statement II is true and I is false.

(c) Both the statements are true.

(d) Both the statements are false.

4, The element of promotion mix which involves a variety of programmes
designed to promote or protect a company’s image and its individual

products in the eyes of the public is :
(a)  Personal selling

(b)  Public relations

(c) Marketing

(d)  Sales promotion

5. The process of holding securities in electronic form is called
dematerialisation. Which of the following statement does not relate to

dematerialisation ?

(a)  Smooth transfer and settlement of trade through a single account
in shares

(b)  Demat securities can be pledged or hypothecated to get loans
(c) No danger of loss, theft or forgery of share certificates

(d)  Existing physical shares cannot be converted into electronic form

66/3/2 ~~~~ Page 5 P.T.O.
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6. Ham IIH & 7 fafte Tuwor srensti o1 e wiam 1§ fou 7o 37k gefea

Tt ¥ I
HIcTH I HITH 11
P. Hehdd STHTq ()  AfeamE
Q. AT sEmd (i) S9YH FICHTEH hl 1T
R. HT3(eh STHT¢ (iii) fafime a1t wfed Gehde
S. =fTd Srun (iv) g

(a) P-(G), Q-(Gi), R-(i1), S—(iv)
(b)  P-(iv), Q—(iii), R—(i), S-(i1)
(c)  P-(Gi1), Q-1), R-Gv), S-(i)
(d)  P-Gid), Q-(ii), R—Gv), S-(1)

7. = fou o o # i T el & Yok T T R

(a) Tgdiaes Sepfom
(b)  uiteE Yepfom
()  TeamsR Yepfom
(d)  wnafies Yekfom
66/3/2 ~~~~ Page 6
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6. Match the various communication barriers given in Column II with their

respective categories given in Column I :

(a)
(b)
(c)
(d)

Column I Column I1
Semantic Barriers (i)  Distrust
Psychological Barriers (i1) Lack of proper incentives

Organisational Barriers  (iii) Symbols with different

meanings

Personal Barriers (iv) Status

P—(i), Q—(i1), R—(iii), S—(iv)
P-(iv), Q—(iii), R—(1), S—(i)
P—(iii), Q-(1), R—(iv), S—(ii)
P—(iii), Q—-(ii), R—(iv), S—(1)

7. The level of packaging of the chocolate shown in the picture below is :

(a)
(b)
(c)
(d)

66/3/2
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Secondary packaging
Transportation packaging
Designer packaging
Primary packaging
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8. WiAT 3 gH STcud ¥ T 5 HUS T Uh Fele WG qAT IE Udl TFH W 24 |l
g fop fmtor <t ot e oft, aut & Hem ° ®d o @ off qen fafim sEi
T Tt B2 @ o1 | 319 eI o FHamer gg 39 fohd SUMIRT BRA | ST

=T ?

(a) TSen wree
(b) TSI HHIRH
(c)  USEH hHiRH

d) Har= IR

9. B B % Th MW § YRAY Fai=d e o dls 78 o 500 HeT bl ity
# gt arfufses TfAfafedt W ga 9@ ¥ Ush o &f & o A foeee
TTRIST0T =l A8 YT i i el 3 fob HCmT 1 4o &1 | J&f SATadTeh
YITIRUT <Rl ShI4-H ST Jfdfsfrad &l &1 3 ?

(a) WIS
(b) TR
(c) fTafers

(d) T

10. RITH Wicgm-d |90l <31 § 778,21, TaTd TATidd hidl § | Shide-19 o M,
STIETRIH TR0 H Bl @ IiadHl sl THRENSG i o oY, 389 379 Ted
&fd ol IUYh &Y U TN 39 JhR fohart fob =R & &Rl swar ot sw=nii o
T o wE w TH T dlw s T NEE g@med § Ard # oA q9en
AT ST | UG | Afeid TS o Had Hl fog @ -
(a) Tafsmdenor & @ma
(b) U@l T 3TTheH
(c)  HIfHeI o forehrE
(d) R FA 6 Gl FH TR

11. F=fafea 8 9 :9-91 <ge@™ & 9m1ieies 9= 1 91 787§ ?

(a)  Sfaq gcam=m
(b)  T3rear yorreft qem ATeRaT X
(¢) 39N ATed
(d)  STefeawen | Hg1 hl AL
66/3/2 ~~~~ Page 8
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8. Sarita bought a flat from Sugan Developers for ¥ 5 crore and was
shocked to discover that the quality of construction was bad, roof leaked
during the rainy season and plaster was coming off at various places.
Which consumer forum should she approach for redressal of her
grievance ?

(a)  District Commission
(b)  State Commission

(c) National Commission
(d)  Supreme Court

9. In a recent ruling, the Supreme Court of India has ordered an immediate
stop on commercial activities in a 500-metre radius of the
Taj Mahal and asked Agra Development Authority to ensure compliance
of its directive. Which dimension of business environment is reflected
here ?
(a)  Social
(b)  Technological
(c) Legal
(d)  Political

10. ‘Compro Solutions’ offers IT services to clients across the country.
During Covid-19, to accommodate changes taking place in the business
environment, it suitably modified its organisation structure in a way that
work from home became the new way of working for all employees
bringing cost benefits and flexibility in the organisation.
The point of importance of organising discussed above is :

(a)  Benefits of specialisation

(b)  Adaptation to change

(c) Development of personnel

(d)  Clarity in working relationships

11. Which of the following is not a part of social environment of Business ?
(a)  Life expectancy
(b)  Education system and literacy rates
(c) Consumption habits
(d) Money supply in the economy

66/3/2 ~~~~ Page 9 P.T.O.
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12. T=fafiga 8 9 +9-81 9e9-t@-yey= 1 s 757 & ?
(a)  SATGEIR YHTEROT i fIPaAwor qor ®H i Sffaddt T 38 J9TE
(b) MY wey grr ST T8 Al 1 fovetyw
(c) 98 gHfyaad & fob 37k faumt 4 stawres Hiftes 8
(d) oTufera e i wifta &g 79 faum & < o1 i s

13. 3 &A1 3uuie qaiervl-faddt qen wreesads fufg of ® & 991 wnfees & s
g5 9l SEgaTl HI THR @ § T I &AGE Eia adn = 7d 8 o 9 |
¥ed T8 &, oed sgeg™ W oft gftads &1 o sH @R |
3Th | eRIRIG SATTTIeh qiaxel shi T i qga il
(a)  STel Qral s GHIrd
(b)  Tafsme wa wraror sfwat
(c)  SAANH-HaY
(@)  iaefie Jepfd

14. 8 aFR, 2016 I WRA TR 4 T 500 AT T 1000 ok Arei T FoHGRTT

T | fomgdietor &1 319t B -
(a) $o fafime i & Afdafew 9 e 61 fafer arar aam 8 T |

(b) T It I Sk | ST &l TohAT T FehdT o Y] 31T BT oh AT SR
Fraty sw= fopam s Temar o |

(¢) 3l hl AR 5Tel o & | o ekl | 9¢ar ST Hehd T |
(d) ¥ AR H TR HET S T TAE FRAT S HRAT AT g AR
o fore = |

15. <o 9 YEY Td SR gHI o T qUT HHIEeh shifd i o1 el | 3T 31
o7 fop &Y AT SR hl I ™ H INedT hiAT AET | IoY bl HFIT
AT I, A PS8, BETR o Y AT HEAT ATEY | $Hh 1Y & BRI I
T INYH T TMET GAT HFIT shl ITTBTS b [oTT TedAT shl STIMT =T |

ITh | RN Yy 1 figa B -

(a) Tou™ wghd, 7 foh ofiar <& fm

(b) &AM, 7 T =afFarg

(c) Tgam, 7 o e

(d) T Hh i IHeh! TR AT T TG o T fohrd

66/3/2 ~~~~ Page 10
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12. Which of the following is not a function of middle level management ?

(a) Analysing the business environment and its implications for
survival of the firm

(b)  Interpreting the policies framed by top management
(c) Ensuring that their department has necessary personnel
(d) Motivating people in their department to achieve desired objectives

13. These days consumers are making eco-friendly and healthy choices and
are saying no to all things made of plastic and replacing it with stainless
steel and ceramic containers, thus forcing business to change as well.
Identify the feature of business environment highlighted above :

(a)  Totality of external sources
(b)  Specific and general forces
(c) Inter-relatedness

(d) Dynamic nature

14. Government of India demonetised notes of ¥ 500 and < 1000 on
November 8, 2016. Demonetisation means :

(a)  They ceased to be legal tender except for a few specified purposes.

(b) These notes could not be banked but could be freely used
otherwise.

(c) These notes could be converted into gold coins from Reserve Bank
of India.

(d) These notes could be used for household purposes but not for
business purposes.

15. Taylor called for complete mental revolution on the part of both
management and workers. It meant that management and workers
should transform their thinking. Management should share the gains of
the company, if any, with the workers. At the same time, workers should
work hard and be willing to embrace change for the good of the company.
The principle of management highlighted above is :

(a)  Science, not the Rule of Thumb

(b)  Cooperation, not Individualism

(c) Harmony, not Discord

(d) Development of Each and Every Person to His or Her Greatest
Efficiency and Prosperity

66/3/2 ~a~~ Page 11 P.T.O.
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16. a1 fafies W foard sve o <) =t o1 IcuTed au7 WG o fafse wesn §
FHhl Yfd A AT Th ST T = | A Fhafed 10,000 ferex gt =t =
3T Hd B a9 3= 250 fuefiferex, 500 faefiferer qon we forex mehR &
fesai o 9% otd & | IcuTe Yeus Wfdafer quremn o giifeaa @ &% fau
T 3R o fd ed feaai ¥ @t fesd it M9 oHat B |
3Th 3TI<eg | Afdd =0T Ffsham 1 =Rl 2
(a) TuTE ARt w1 fgior
(b)  dIrdfeeh fsaTE 1 ATH
(c)  dTEdfaeh fsuTE i AT & o
d) Toaemt @ faveryo

17. ik 8 9 BIH Soo® AT Teh TV TR I TATTHT HRIGRT JaT Aigare
! Y TSATE & 1Y B W TG dTel, Fooh YTV TATad i oh fIQ
HI | TS YN TSHAAN 5 T had H¥HHI JaT ARATT h fIC ST
3TNk ST, AU 38 SR U Uk Uit sga off € | Smyur SR
AEATST H AlhYT & T a7 5y Saod Y99 a8 § & dH =g 394
HARIA W &S v H g% g1 | 39k feufa o wdtes fg g fsafed ferqom

T hI o
(a)  Yohfomr qem refetT
(b) Tadd (HaH)

(¢c) UTgh T8k 9d1d

(d) 3IUIE Sl T Ud I

18. I8 Wfshal S wgaH fopu U qe sféra Sewal <kt Wit & fou shri-awermei qe
ST o TSR AT T9Te &Y F THIYAT BT SUANT Thleh SIS o TshaT=<rTd
1 98 il 7, hedw! 3

(a)  GTed ST

(b) e
(c) Tgfre
d) S
66/3/2 ~~~~ Page 12
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16. Keya Ltd. is a large organisation manufacturing a popular brand of desi
ghee and supplying it to various states of India. They manufacture
10,000 litres of desi ghee every day and pack in cartons of 250 ml, 500 ml
and 1 litre sizes. The production manager ensures that one out of every
ten cartons of each size is checked for quality control everyday.

The step of the controlling process discussed in the above para is :
(a)  Setting performance standards
(b)  Measurement of actual performance

(c) Comparison of actual performance with standards

(d)  Analysing deviations

17. Prateek Singh opened a jewellery store ‘Fashion Jewels’ offering
workwear, light jewellery with modern designs for young working
women. Good jewellery designs not only made the jewellery attractive for
young working women, but also gave him a competitive edge in the
market. The jewellery was a hit with working women and ‘Fashion
Jewels’ was able to report a profit of ¥ 3 crore in the first year itself. The
function of marketing performed by Prateek Singh in the above case
was :

(a)  Packaging and labelling
(b)  Promotion
(c) Customer support service

(d)  Product designing and development

18. The process that initiates implementation of plans by clarifying jobs and
working relationships and effectively deploying resources for attainment

of identified and desired results is known as :
(a)  Organising

(b)  Controlling

(c) Staffing

(d) Planning

66/3/2 ~~~~ Page 13 P.T.O.
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19. -Ta0-faauor q1ea o TE A i TgaH T
(a) 3UEH — Gal SR — T — UTEh
(b)  3TEH — UTEH — Gl AR — Aleh AR
(c) 3CUEh — Toic — UTeh — Gl AT
(d)  3IUTEH — ATk AT — GaU AT — UTeh

20. FI TN g TR YOG 5 oIt dIR SR 3uetsy i
faferse sgva & forg 1 78 |

(a) YN feehEe wEHT ged
(b)  WRAHE Siayld wa fafm s
(c) Y™ fad s

(d) WA &2 &%

21. e TEred fopet ff wreq i o8 wewqul giErtEr & | fRE off ged #
AT e 1 AT 8 TTHa FTEHT bl Toraal W R et 8 | “TaTss we
g o HEEYs 4 AE.AE.CH. § Haeh, fod H fofmedr I, 9a9 T3 i
oo yeages % &9 § Fg® R | WIfEe Hedtehd W AR T Toh 9ad T o
fIsqTeT euet &Y A& o1 AT I§ WS b HIRHS AL Bl Y A& W
gehT | ST o &I SRR AHR (E.3.37.) 7 AW i = L o g
Fg1 | @337 H FaEn w6 yed 1@ i fonmwar fom #@ oft weg sweh
e foqum yeges o &9 § & T8 | WIS, 7 UEEEs % WY 39 I W
41 T qAT I Tl AR i Tl 98 T I i I Ag FHRT | 3T 3
I8 Al THeE foh U A haol I (v Sl AR o W@ HAfUg F §gd |
A ff Y U | TSI, G HEIEE i W@l Ug W TEl Ak hl IR
% FHIT T A1 o Al dH I T 1 eat@ hite g ITw
=g ¥ T8 feam w7 | 3
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19. Identify the correct sequence of two-level-channel of distribution :
(a) Manufacturer — Retailer - Agent —» Customer
(b)  Manufacturer - Consumer — Retailer - Wholesaler
(c) Manufacturer — Agent — Customer — Retailer

(d) Manufacturer - Wholesaler — Retailer - Consumer

20. has been established with the specific objective of providing

a ready market for money market instruments.
(a)  Discount Finance House of India

(b)  Securities and Exchange Board of India
(c) Reserve Bank of India

(d) State Bank of India

21. Human resources are the most important asset of an organisation. The
ability of an organisation to achieve its goal depends upon the quality of
its human resources. The General Manager of ‘Allied and Sons’
appointed an IIM graduate, Pawan Rai, specialised in finance as
Marketing Manager. On monthly evaluation, it was found that Pawan
Rai’s performance was not up to expectations and he was not able to meet
the monthly targets of the organisation. The Chief Executive Officer
(CEO) of the company asked for investigation into the matter. The CEO
was told that Pawan Rai has a specialisation in finance but was
appointed as a Marketing Manager. The CEO discussed this matter with
the General Manager and explained to him the importance of putting the
right person at the right job. He further explained that it would not only
lead to higher performance but would also provide many other benefits.
Besides the benefits of putting the right man at the right job, state the
three other benefits which the CEO might have explained to the General

Manager that are not given in the above para. 3

66/3/2 ~~~~ Page 15 P.T.O.
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22. (%) G TRHT FE % HEA o (bl diA Tomgl i THATIT | 3
rera
(@) ‘TEeE qun e yeg o q AfTsT Jeat @ | ol b fargati
a8 e qen e & ey 99y ol g9esy | 3

23. (%) ffifad o mar w Gelt e qen gl IR | o T hifvie ;3
(i) Sfa9rh
(i) e Tl
(i) gea

(@) v fayfd @ ot 9 & gl = faframes (Fraem &) st

24.  Yeliur qon W T 2 | feeg Afesa wias € ot wal L eg. gt v *
YT T URIER S TR | AN A A9 THELT,, ofE. R T, daR ¥ g
& | AT ok "YU Tk TGl H, A9 F hal fh 98 ol TH UNX 7 99T Tk
TR HFT H 378 TIRATHp o |1 GRS YU & 9g T HEW 8 | =i
1 38 910 W I A1 g1 foh T Teh U o1 Faifeh IH 1A AT feh HTThel
YSUh SATTETRh TSl W IR SgdT ST @1 2 | I 94 3794 o= & gqeq
# o o feu | 39 o swrel w auege S ye g few T g | 3

25. (%) faftm & ug & foiw wdf & < |9 gusse ot Afe foveadia g
Fifeh TR bl TS ST § 9T S5 U= TiIeTur shl STadehdl
gt gt | 4

AT

(@) ‘8 s ke 7 froes g it & fafsrse ol e i stfdrermn,
HITA AT I H FIalt bl St 3 1 Sfshan il yg=E hifsw qen
39 i 3HE B I fohegl 9 SATHT <kl THETST | 4
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22. (a) [Explain any three points of importance of ‘Controlling’ function of

management. 3

OR

(b)  ‘Planning and Controlling are inseparable twins of management.’
Explain the relationship between planning and controlling with
the help of any three points. 3

23. (a) Distinguish between ‘Capital market’ and ‘Money market’ on the
basis of : 3
(1) Participants
(ii))  Investment outlay
(i)  Safety
OR

(b)  State any three regulatory functions of the Securities and
Exchange Board of India. 3

24. Praveen and Naveen are friends. Praveen became a professional after
completing his MBBS from ‘Hindu Medical College’. Naveen completed
his MBA from IIM, Bangalore. In a discussion with Praveen, Naveen said
that he too is a professional and is working with a multinational company
as a senior manager getting a good package. Praveen was not convinced
about the fact that Naveen was a professional in spite of being aware
that nowadays there is increasing emphasis on managed business
concerns. Praveen gave three reasons in support of his opinion. Explain
the three reasons that Praveen might have given. 3

25. (a) Explain two sources of recruitment for various job positions which
are more reliable as the candidates are already known to the
organisation and they do not need induction training. 4

OR

(b) ‘It is a process by which the aptitudes, skills and abilities of
employees to perform specific jobs are increased.” Identify the
process and any three of its benefits to the organisation. 4

66/3/2 ~a~~ Page 17 P.T.O.
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26. (%) 39 ik it dga= HIfS qen sahl fohgl ol faRiwamet &1 Ieor@
HITT S AT o WA S TIfed o forw =t @i FgyH, AmieeH,
TS, TSRO AT Adcd YeH ! @ | 4

AT

(@) T frdl =R TrcarEl 1 oo i S Torer &9 @ Hifgeh 3§ 31eran
gl W HIY ST Tehd & aAT AN ol T=@1 816 i o fofw, ahmifaa
ESGR 4

27. NAFH TS o Ya€hi bl GUNU] AU o HRU 9gd H THEAST
AT KT U1 Ny STfavemd 9 TAdwaH! sl 9Tl 59 =7 |

Tl Temgors § FUYOT T ol U o ot i o) 3T geisy | 4

28. 39 i i yg=m i Sraes g Futfa e Smar @ T i whfia =3 &

faftrm @rat =1 fpm U o ST fokan Sie qen 38 gifad & aret fohegi
T HTehl T Ieoi@ HIT | 4

29. ‘WA fafee’ dicd ymyal 1 Icded G Il Tk ST kA 3 |
SUNIRRIST sl TS T N0 i 3G $THT T H1 IUURAT ol qe
e famor g 8 | w Hfifd & gEn udrEe @ gfdafsean qen fmeerd
Ted i o T 3ok IUNIRRT TaT Td f3rehrIa fHamer oheg sl HieTsal BIF Tl
3ok afl el W Gigd BIa1 7 | AfG 3ca1g TET Wl 3eh! LTS o A&
&I 8 1 g IJUARRIST ol IToh ATUHN qT IUTed Tl o foway § fifera s
o foru fofsre risea ot Tardt 2 |

SO g Jafdd fohT I ST IUMIRIST & 1 AR shl HHLATST | 4

66/3/2 ~~~~ Page 18

Get More Learning Materials Here : & m @&\ www.studentbro.in



26. (a) Identify and state any three features of the process of instructing,
guiding, counselling, motivating and leading people in the

organisation to achieve its objectives. 4

OR

(b)  State four incentives which are in direct monetary form or
measurable in monetary terms and serve to motivate people for

better performance. 4

27. Managers in ‘Galaxy Enterprises’ faced lot of issues due to barriers in
communication leading to creation of an environment of distrust and

misunderstanding.

Suggest any four measures to improve communication effectiveness in

‘Galaxy Enterprises’. 4

28. Identify and state any three factors affecting the decision which involves
determining the relative proportion of the use of different sources in

raising funds. 4

29. ‘MVT Ltd. is a leading cosmetic manufacturing company. It has its own
consumer service and grievance redressal centre to address consumer
concerns. The mobile phone number of the consumer service and
grievance redressal cell is printed on the labels of all its products as a
policy to get feedback or complaints from their consumers. It also runs
various programmes to educate the consumers about their rights and
reliefs available to them in case a product or service falls short of their

expectations.

Explain the two rights of the consumers which are being promoted by the

company. 4
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30. ORI I GSH o WA o FATEHI h1 Tl S §H H 0% g | 39
favama 3 b foeqa il Ao oTafirse o Sred SATEl i A il & | SEih
3IGsh! T w1 wiEdl @ for 39 s1iafsa qen nfasfiar fowa # 59 g <1 JioA
T =GR | e YA IO HUT W SR SAdt & adT gHedt ® f 9

foreir sqifiie =t emmava 2 |
YN h! Jg=TH hIIY qAT 36k He 6 UH o forgatl =1 Ieci@ HNT
frrept v Iwdh sT=ae | A&l foham T /Y | 4

31. (%) ‘IFMU=IG WS &1 w1 37 8 ? U= 3T & foheal qr i

qAT 2 BT BT Iooid hifoY | 6

AT

(@) U e & FRIHS @ &1 A ST | 30 g9 o fohdl I) oyt
T It HIVY | 6

32. (&%) TE wfafafEl S Afe@ oeeni I IRl qen HaTedl hi e,
foreroamd, @, enfe Tufva et & 9o 38 39 ScuTel aUT WA &
% foTu U@ st 8 faoom fay 1 o mewqul uesk 3 | 39 3 *
U foqueeRdatati g SwT hil I 9T foheal diF TFINUT dehdlehl <Rl
HHSATRY | 6

AT

(@) &1 e fquum deishl o 36 @<= 4 2 58 wh & ofera 9o 8
oo 3evat ol Ut S % T 39T et R |

(i)  3H SIIYUNUN hl UgHM hIfTT qAT HRT Iocid hifT |
(i) 3WIE (1) W UEAHT TS YR % o qdi bl THSATT | 6
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30. Kaveri is busy in preparing the financial blueprint for her organisation’s
future operations. She feels that detailed plans of action reduce waste
and duplication of efforts. However, her friend, Sana feels that in an
uncertain and dynamic world, this type of planning may not work. Kaveri
again stresses on her statement and explains why this financial blueprint

is important.

Identify the concept and state three points of its importance in addition

to those explained in the above para. 4

31. (a) What is meant by ‘Informal Organisation’ ? State any two
advantages and two disadvantages of Informal Organisation. 6
OR
(b)  Give the meaning of ‘Functional Structure’ of an organisation.

State any four advantages of this structure. 6

32. (a) ‘The activities that communicate availability, features, merits, etc.
of the products and services to the target customers and persuade
them to buy these products and services’ is an important element
of marketing mix. Explain any three tools of communication used

by the marketers for this purpose. 6
OR

(b) It refers to a set of marketing tools that a firm uses to pursue its

marketing objectives in a target market.

(1) Identify and state the concept.

(i1))  Explain three elements of the concept identified in (i) above. 6
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[=]

33. 31 HrE, 2022 % AT §C 99 H TSNS ATMIEHE HEAHA! H HA forshl
T 25m@ ot | 15 319, 2022 I S S I Th 9o H IS ¥ HA Toishl
H T 45 AN T FQI W ohl U T T | 39 32 ! UTed A & (¢
STIHTRI TR0 i &AM H T@d §U T foqd A1sH1 SHT8 T8 | HedHT o qe
HREHH AR 3t Tk AT T T A hdd TSR] hl A T 3Tk
fofa o =t facfra suft eifug 3eht St i 38 @ew <t ifta &g feem ot |

ST ITgeg U dAfdd i TE A YR I AISHIST i UgAM hiforg e
HHHATRT | 6

34. TS TR Fl Tk GGl o foI¢ maTiaened 61 fshehe T 1 Uf¥rfer & &
fAu wadm Hics, $GR 7 Th ARE Tshehe WM&k STem T 1 i <6l |
Tgci] B Sd%h H HETaaTed o JIHE=E 4 3w i for fgaret weifasme™
1Y TH gU w1 | o} # Reenfed F e § wden % T 9o I
et wa fafrmt =1 oot B | wwsia 9or Rt @ ure 9 e W 3k
ge o yaryr gl | s e o g areft TR oft ym o T &% fon
TeTfdETerd & gumrEr 3 g wwen ot $ f faenst ufiies @ sy < qen
d had URIER % Uid & IR B | Uk Sfa o fau Reenfeat wt
giTferd & o e gg Feerlt on @it qU STRaTRcd 39eh el W o7 | 38
0 o ASHl o HEY AU FGUTE a7 YU sl WTSHT i Ticarted fopaT | 98
IS AT o1 h1 3Gk forr Siaan T or | Raenet off Scanfea & qen wfdrero

QSR AT 7 |
Ik iifefa o afda yag o dF fagmal 1 9gam $ifse a9 gmemsy | 6
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33. ‘Diamond Logistics Company’ had a turnover of ¥ 25 lakh during
the year ended 318t March, 2022. In a board meeting held on
15th April, 2022, it was decided to achieve a turnover of T 45 lakh for the
next year. To accomplish this objective after taking into consideration the
business environment, a comprehensive plan was drawn. The Chief
Executive Officer (CEO) of the company also released a plan that would
not only guide the thinking of the managers and their decision-making

but also channelise their energies towards achievement of this target.

Identify and explain the three types of plans discussed in the above para. 6

34. A famous cricket coach, Alam Raza was hired by Sports College, Indore to
coach the college cricket team for a National level competition. In the
first meeting itself, the Principal of the college announced that the
players would enter into an agreement with the college. The agreement
would state the reporting time for players on the field and other rules
and regulations. Failure to obey the agreement and rules would lead to
judicious application of penalties. It was also announced by the College
Principal that the players would receive orders from the coach and they
would all be responsible only to the coach, to prevent confusion regarding
tasks to be done. The coach was very determined to train the players to
win, as the entire responsibility was on his shoulders. He promoted the
spirit of mutual trust and belongingness among the team members
without which he felt it would be difficult to win. The players were also

enthusiastic and the training started in full swing.

Identify and explain the three principles of management discussed in the

above case. 6
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Marking Scheme Strictly Confidential (For Internal and Restricted use only)
Senior School Certificate Examination, 2023

SUBJECT NAME BUSINESS STUDIES (66/3/2)

General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one’s own interpretation or any other consideration. Marking Scheme should
be strictly adhered to and religiously followed. However, while evaluating, answers which
are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given in
the Marking Scheme. If there is any variation, the same should be zero after delibration and
discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

6 Evaluators will mark( vV ) wherever answer is correct. For wrong answer CROSS ‘X” be
marked. Evaluators will not put right (v') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

1 A full scale of marks (example 0 to 80/70/60/50/40/30 marks as given in Question

Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.
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12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours every
day and evaluate 20 answer books per day in main subjects and 25 answer books per day in
other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the Examiner
in the past:-

Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

e  Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected
by the candidate shall damage the prestige of all the personnel engaged in the evaluation work
as also of the Board. Hence, in order to uphold the prestige of all concerned, it is again
reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the
title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of
the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are
once again reminded that they must ensure that evaluation is carried out strictly as per value
points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior Secondary School Examination, 2023
BUSINESS STUDIES (Subject Code — 054)
[ Paper Code — 66/3/2]

Q. No. EXPECTED ANSWER /VALUE POINTS Marks

1. | Q. Rahul wants to buy shares of ‘Rexter Ltd.” which
are being traded at the National Stock Exchange. He
feels that the share prices will go up in the future.
Which market should he approach for this purpose?

(a) Money market

(b)Primary market

(¢) Secondary market

(d)Both (b) and (¢)

1 mark
Ans ( ¢) Secondary market

2. | Q. Which of the following is a development function of
Securities and Exchange Board of India?
(a) Training of intermediaries of the securities
market
(b)Promotion of fair practices and code of conduct
in the securities market
(¢) Undertaking steps for investor protection
(d)Prohibition of fraudulent and unfair trade
practices

Ans (a)Training of intermediaries of the securities market 1 mark

3. | Q. Statement I. Values are general rules for behaviour
of individuals in society formed on the basis of
common practise and principles after research in
work situations.

Statement II: While practising principles of
management, values cannot be neglected as businesses
have to fulfil social and ethical responsibilities towards
society.

Choose the correct option from the options given
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below:
(a) Statement I is true and II is false.
(b)Statement II is true and I is false.
(c) Both the statements are true.
(d)Both the statements are false.

Ans ( ¢) Both the statements are true. 1 mark

4. | Q. The element of promotion mix which involves a
variety of programmes designed to promote or protect
a company's image and its individual products in the
eye of the public is:

(a) Personal selling

(b) Public relations

( c)Marketing

( d)Sales promotion

) . 1 mark
Ans (b) Public relations

5. | The process of holding securities in electronic
form is called dematerialisation. Which of the
following statement does not relate to
dematerialisation ?

(a) Smooth transfer and settlement of trade
through a single account in shares

(b) Demat securities can be pledged or
hypothecated to get loans

(c) No danger of loss, theft or forgery of share
certificates

(d) Existing physical shares cannot be converted
into electronic form

Ans. (d) Existing physical shares cannot be converted

into electronic form 1 mark

6. | Q. Match the various communication barriers given in
Column II with their respective categories given in
Column I:
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Column I Column I1

P. Semantic Barriers (i) Distrust
Q. Psychological Barriers (ii) Lack of proper
incentives

R. Organisational Barriers (iii) Symbols with
different meanings
S. Personal Barriers (iv) Status

(2) P-(i), Q-(ii), R-(iii), S-(iv)
(b)P-(iv), Q-(iii), R-(i), S-(ii)
(¢) P-(iii), Q-(i), R-(iv), S-(ii)
(d) P-(iii), Q-(ii), R-(iv), S-(i)

Ans (¢) P-(iii), Q-(i), R-(iv), S-(ii) 1 mark

The level of packaging of the chocolate shown in the
picture below is:

(a) Secondary packaging

(b) Transportation packaging

(c) Designer packaging

(d) Primary packaging

Ans (d) Primary packaging 1 mark

8. | Q. Sarita bought a flat from Sugan Developers for X5
crore and was shocked to discover that the quality of
construction was bad, roof leaked during the rainy
season and plaster was coming off at various places.
Which consumer forum should she approach for
redressal of her grievance?

(a) District Commission

(b)State Commission

(c)National Commission
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(d)Supreme Court

Ans.(b) State Commission

1 mark

9. | Q. In a recent ruling, the Supreme Court of India has
ordered an immediate stop on commercial activities in
a 500-metre radius of the Taj Mahal and asked Agra
Development Authority to ensure compliance of its
directive. Which dimension of business environment is
reflected here?

(a)Social

(b)Technological

(c)Legal

(d)Political

Ans ( ¢) Legal 1 mark

10. | Q."Compro Solutions' offers IT services to clients
across the country. During Covid-19, to accommodate
changes taking place in the business environment, it
suitably modified its organisation structure in a way
that work from home became the new way of working
for all employees bringing cost benefits and flexibility
in the organisation. The point of importance of
organising discussed above is:

(a) Benefits of specialisation

(b) Adaptation to change

(c) Development of personnel

(d) Clarity in working relationships

Ans. (b) Adaptation to change 1 mark

11. | Q. Which of the following is not a part of social
environment of Business?

(a) Life expectancy

(b) Education system and literacy rates

( ¢) Consumption habits

(d) Money supply in the economy

1 mark
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Ans (d) Money supply in the economy

12. | Q. Which of the following is not a function of middle
level management?
(a) Analysing the business environment and its
implications for survival of the firm.
(b)Interpreting the policies framed by top
management.
(c) Ensuring that their department has necessary
personnel
(d) Motivating people in their department to
achieve desired objectives.

Ans (a)Analysing the business environment and its 1 mark
implications for survival of the firm.

13. | Q. These days consumers are making eco-friendly and
healthy choices and are saying no to all things made of
plastic and replacing it with stainless steel and ceramic
containers, thus forcing business to change as well.
Identify the feature of business environment
highlighted above:

(a) Totality of external sources
(b)Specific and general forces
(c) Inter-relatedness
(d)Dynamic nature

Ans (d) Dynamic nature 1 mark

14. | Q. Government of India demonetised notes of X500
and X1000 on November 8, 2016. Demonetisation
means:

(a) They ceased to be legal tender except for a few
specified purposes.

(b) These notes could not be banked but could be
freely used otherwise.

(c) These notes could be converted into gold coins
from Reserve Bank of India.
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(d) These notes could be used for household purposes
but not for business purposes. 1 mark

Ans (a) They ceased to be legal tender except for a few
specified purposes.

15. | Q. Taylor called for complete mental revolution on the

part of both management and workers. It meant that

management and workers should transform their

thinking. Management should share the gains of

the company, if any, with the workers. At the same

time, workers should work hard and be willing to

embrace change for the good of the company. The

principle of management highlighted above is:

(a) Science, not the Rule of Thumb

(b) Cooperation, not Individualism

(¢ ) Harmony, not Discord

(d)Development of Each and Every Person to His or
Her Greatest Efficiency and Prosperity

Ans (¢ ) Harmony, not Discord 1 mark

16. | Q- Keya Ltd. is a large organisation manufacturing a
popular brand of desi ghee and supplying it to various
states of India. They manufacture 10,000 litres of desi
ghee every day and pack in cartons of 250 ml, 500 ml
and 1 litre sizes. The production manager ensures that
one out of every ten cartons of each size is checked for
quality control everyday.

The step of the controlling process discussed in the
above para is:

(a) Setting performance standards

(b) Measurement of actual performance

(¢) Comparison of actual performance with standards
(d) Analysing deviations

1 mark
Ans (b) Measurement of actual performance

17. | Q. Prateek Singh opened a jewellery store Fashion
Jewels' offering workwear, light jewellery with
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modern designs for young working women. Good
jewellery designs not only made the jewellery
attractive for young working women but also gave him
a competitive edge in the market. The jewellery was a
hit with working women and ‘Fashion Jewels' was
able to report a profit of X3 crore in the first year
itself. The function of marketing performed by
Prateek Singh in the above case was:

(a) Packaging and labelling

(b) Promotion

(¢) Customer support service

(d) Product designing and development

Ans (d) Product designing and development 1 mark

18. | Q. The process that initiates implementation of plans
by clarifying jobs and working relationships and
effectively deploying resources for attainment of
identified and desired results is known as:

(a) Organising

(b) Controlling

(c) Staffing

(d) Planning

.. 1 mark
Ans (a) Organising

19. | Q. Identify the correct sequence of two-level-channel
of distribution:
(a) Manufacturer — Retailer — Agent —Customer
(b) Manufacturer —Consumer —Retailer—
Wholesaler
(c) Manufacturer — Agent — Customer —
Retailer
(d)Manufacturer — Wholesaler —Retailer—
Consumer

Ans (d)Manufacturer — Wholesaler —Retailer—
Consumer 1 mark
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20. | Q- has been established with the
specific objective of providing a ready market for
money market instruments.

(a) Discount Finance House of India

(b)Securities and Exchange Board of India

(c) Reserve Bank of India

(d) State Bank of India

1 mark
Ans (a) Discount Finance House of India

21. | Q. Human resources are the most important asset of
an organisation. The ability of an organisation to
achieve its goal depends upon the quality of its human
resources. The General Manager of 'Allied and Sons’
appointed an IIM graduate, Pawan Rai, specialised in
finance as Marketing Manager. On monthly
evaluation, it was found that Pawan Rai’s
performance was not up to expectations and he was
not able to meet the monthly targets of the
organisation. The Chief Executive Officer (CEO) of
the company asked for investigation into the matter.
The CEO was told that Pawan Rai has specialisation
in finance but was appointed as a Marketing
Manager. The CEO discussed this matter with the
General Manager and explained to him the
importance of putting the right person at the right job.
He further explained that it would not only lead to
higher performance but would also provide many
other benefits. Besides the benefits of putting the right
man at the right job, state the three other benefits
which the CEO might have explained to the General
Manager that are not given in the above para.

Ans Benefits of Staffing (any three):

1 mark for

(1) It helps in discovering and obtaining competent cach benefit

personnel for various jobs.

(1) It ensures continuous survival and growth of the
enterprise through the succession planning for
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managers.

(i11) It helps to ensure optimum utilisation of human ~1x3
resources by avoiding overmanning and under- — 3 marks
utilisation of personnel.

(iv) It improves job satisfaction and morale of
employees through objective assessment and
fair reward of their contribution.

(If an examinee has only listed the points, /> mark for
each point should be awarded.)
22. | (a) Q. Explain any three points of importance of
‘Controlling’ function of management.
Ans Importance of ‘Controlling’ /> mark for
o o naming
(i)  Accomplishing organizational goals. n
(i)  Judging the accuracy of standards v, mark for its
: : lanati
(iii) Making efficient use of resources cxplanation
(iv) Improving employee motivation =1x3
(v)  Ensuring order and discipline =3 marks
(vi)  Facilitating co-ordination in action
OR OR
(b) Planning and Controlling are inseparable twins of
management.’ Explain the relationship between
planning and controlling with the help of any three
points.
Ans Relationship between planning and controlling (Any
three with explanation):
(1) Controlling takes place on the basis of standards | mﬁrk foi
developed by planning. cach poin
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(11) Planning without controlling is meaningless as —1x3
controlling ensures that the events conform to plans.
(i11)Planning prescribes an appropriate course of action
for achieving objectives whereas controlling evaluates
whether decisions have been translated into desired
actions. = 3 marks
(iv) Planning and controlling are both forward-looking as
well as looking back.
23. | Q. Distinguish between 'Capital market' and Money
market’ on the basis of:
(i) Participants
(ii) Investment outlay
(iii) Safety
Ans Distinction between 'Capital market' and ‘Money
market’:
Basis Capital market Money market
Participants | The participants in
capital market are The money market
financial part.1c1p.ants are
institutions, banks institutions like
> . 7| RBI, banks, = 1x3
corp.orat.e entities, financial
foreign 1.nvestors institutions and =3 Kk
?md retail finance companies. marks
mvestors.
Investment | Investment in | Money market
outlay capital market | transactions entail
does not require | huge sums of money
huge financial | as the instruments
outlays as value of | are quite expensive.
securities 1s low.
Safety Capital market Money market is
instruments are much safer due to
riskier, both with | shorter duration of
respect to returns | investing and
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and principal financial soundness
repayment. of issuers.

OR
OR

(b)State any three regulatory functions of the
Securities and Exchange Board of India.

Ans Regulatory functions of SEBI (any three):

(1)Registration of brokers and sub-brokers and other
players in the market.

(i1)Registration of collective investment schemes and

mutual funds. — 1x3

(111) Regulation of stock brokers, portfolio exchanges,
underwriters, etc. =3 marks

(iv)Regulation of takeover bids by companies.

(v)Calling for information by undertaking inspection,
conducting enquiries and audits of the stock exchanges
and intermediaries.

(vi)Levying fees or other charges for purposes of this
act.

(vii) Performing and exercising such power under
Securities Contracts (Regulation) Act 1956, as may be
delegated by the Government of India.

24. | Q. Praveen and Naveen are friends. Praveen became a
professional after completing his MBBS from ‘Hindu
Medical College'. Naveen completed his MBA from
IIM, Bangalore. In a discussion with Praveen, Naveen
said that he too is a professional and is working with a
multinational company as a senior manager getting a
good package. Praveen was not convinced about the
fact that Naveen was a professional in spite of being
aware that nowadays there is increasing emphasis on
managed business concerns. Praveen gave three
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reasons in support of his opinion. Explain the three
reasons that Praveen might have given.

Ans. Reasons that Praveen might have given (Any three):

Restricted entry — There is no restriction on anyone
being appointed as manager in any business enterprise,
irrespective of the educational qualifications possessed
as compared to other professions like a doctor, a lawyer,
etc

1 mark for
each reason

Professional Association — There are several
associations of practicing managers in India, like the
AIMA (All India Management Association), however, =1x3
there is no compulsion for managers to be members of
such an association nor does it have any statutory

backing unlike other professions. =3 marks

Ethical code of conduct: All professionals are bound by
a code of conduct which guides the behaviour of its
members, which may not be followed by manager
though AIMA has laid down a code of conduct to
regulate the activities of their members.

Service motive— The basic purpose of management is to
serve their clients interests by rendering dedicated and
committed service whereas the basic purpose of
management is to help the business organisation to
achieve its stated goal which is profit maximisation.

(If an examinee has only listed the points, 2 mark for
each point should be awarded.)

25. | Q. Explain two sources of recruitment for various job
positions which are more reliable as the candidates
are already known to the organisation and they do

not need induction training.
1 mark for

Ans Internal sources of recruitment naming

(i) Transfer +
It involves shifting of an employee from one job to 1 mark for
another, one department to another or from one shift | explanation
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to another, without a substantive change in the
responsibilities and status of the employee.

(i) Promotion
Promotion leads to shifting an employee to a higher
position, carrying higher responsibilities, facilities,
status and pay.

OR

(b) ‘It is a process by which the aptitudes skills and
abilities of employees to perform specific jobs
are increased.” Identify the process and any
three of its benefits to the organisation.

Ans Training

Benefits of training to the organisation (any three):

(1)  Training is a systematic learning, always better
than hit and trial methods which lead to wastage of
efforts and money.

(i1) It enhances employee productivity both in terms of
quantity and quality, leading to higher profits.

=2x2

= 4 marks

OR

1 mark for
1dentification

+

1 mark for
each benefit

(i11) Training equips the future manager who can take
over in case of emergency. =1+3
(iv) Training increases employee morale and reduces — 4 marks
absenteeism and employee turnover.
(v) It helps in obtaining effective response to fast
changing environment-technological and
economic.
26. | Q.(a) ldentify and state any three features of the
process of instructing, guiding, counselling, motivating
and leading people in the organisation to achieve its
objectives.
Ans Directing 1 mark for
identification
Features of Directing (_any three): -
1 mark for

(1)  Directing initiates action.

(1) Directing takes place at every level of

each feature
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management
(i11) Directing is a continuous process =1+3
(iv)  Directing flows from top to bottom

=4 marks
OR
OR
(b) State four incentives which are in direct monetary
form or measurable in monetary terms and serve to
motivate people for better performance.
Ans Financial incentives (any four):
(i) Pay and allowances include basic pay, dearness
allowance and other allowances given to
employees.
(i) Productivity linked wage incentives aim at
linking payment of wages to increase in
productivity at individual or group level.
1 mark for

(iii)  Bonus 1s an incentive offered over and above the

wages/salaries to the employees for higher each incentive

performance.
=1 x4
(iv) Profit- sharing means providing a share to
employees in the profits of the organisation.
=4 marks

(v) Co-partnership/stock option is an incentive in
which employees are offered company shares at a
set price, which is lower than market price, to
create a feeling of ownership and make them
contribute for the growth of the organisation.

(vi) Retirement benefits such as provident fund,
pension and gratuity, which provide financial
security to employees after their retirement, act as
an incentive when they are in service in the
organisation.

(vii) Perquisites such as car allowance, housing and
medical aid, etc., are offered to employees over and
above the salary to provide motivation to them.
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(If an examinee has only listed the points, /2 mark for
each point should be awarded.)

27.

Q. Managers in 'Galaxy Enterprises' faced lot of
issues due to barriers in communication leading to
creation of an environment of distrust and
misunderstanding.

Suggest any four measures to improve communication
effectiveness in Galaxy Enterprises'.

Ans Measures to improve communication effectiveness

(any four):

(1)  Clarify the ideas before communication.

(i) Communicate according to the needs of
receiver.

(i11) Consult others before communicating.

(iv) Be aware of languages, tone and content of
message.

(v)  Convey things of help and value to listeners.

(vi)  Ensure proper feedback to make
communication process more responsive.

(vil) Communicate for present as well as future.
(vii1) Follow up communication.

(ixy  Beagood listener.

1 mark for
each measure

=1x4

=4 marks

28.

Q. Identify and state any three factors affecting the
decision which involves determining the relative
proportion of the use of different sources in raising
funds.

Ans Capital Structure

Factors affecting choice of Capital Structure (any three):

1 mark for
1dentification

Get More Learning Materials Here : & m @) www.studentbro.in




1. Cash flow position must be considered to meet fixed
payment obligations associated with debt.

2. The higher the Interest Coverage Ratio (ICR), lower
shall be the risk of company failing to meet its interest
payment obligations.

3. A higher Debt Service Coverage Ratio (DSCR) 1 mark for
indicates the company’s potential to increase debt each factor
component in its capital structure.

4. If the Return on Investment(Rol) of the company is =1+3
higher than the interest on debt,its ability to use debt =4 marks
1s greater.

5. A firm’s ability to borrow (cost of debt) at a lower
rate increases its capacity to employ higher debt.

6. A higher tax rate makes debt relatively cheaper and
increases its attraction vis-a-vis equity.

7. Cost of Equity increases when debt is used beyond a
certain point.

8. Floatation cost of raising various resources may also
affect the choice between debt and equity.

9. If a firm’s business risk is lower, its capacity to use
debt is higher and vice versa.

10. If a firm uses its debt potential to the full, it loses
flexibility to issue further debt.

11.Debt normally does not cause a dilution of control
while a public issue of equity may reduce the
managements’ holding in the company.

12.Every company operates within a regulatory
framework provided by the law, so the relative ease
with which the norms can be met may have a bearing
upon the choice of the source of finance.

13. If the stock markets are bullish, equity shares are
more easily sold whereas during a bearish phase, a
company may opt for debt.
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14. A useful guideline in the capital structure planning is
the capital structure of other companies in the same
industry.

(If an examinee has only listed the points, /2 mark for
each point should be awarded.)

29, Q. ‘MVT Ltd.” is a leading cosmetic manufacturing
company. It has its own consumer service and
grievance redressal centre to address consumer

concerns. The mobile phone number of the consumer
service and grievance redressal cell is printed on the
labels of all its products as a policy to get feedback or
complaints from their consumers. It also runs various
programmes to educate the consumers about their
rights and reliefs available to them in case a product

. ) . 1 mark for
or serche falls sh0r.t of their expectations. . identification
Explain the two rights of the consumers which are N

being promoted by the company. { I for
mark for 1ts

Ans Consumer Rights being promoted by the company: explanation

(1)  Right to be heard —7x 2

(i1) Right to consumer education = 4 marks

30. | Q. Kaveri is busy in preparing the financial blueprint
for her organisation's future operations. She feels that
detailed plans of action reduce waste and duplication
of efforts. However, her friend, Sana feels that in an

uncertain and dynamic world, this type of planning
may not work. Kaveri again stresses on her statement
and explains why this financial blueprint is important.

Identify the concept and state three points of its
importance in addition to those explained in the above
para.

Ans. Financial Planning 1 mark for
identification
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Importance of Financial Planning ( any three):

. +

(1) It helps in forecasting what may happen in

future under different situations and face the

eventual situation in a better way.
(i1) It helps in avoiding business shocks and

SUTDL] d hel . . 1 mark for

rprises and helps the company in preparing
for the future. each
statement

(i11) It helps in co-ordinating various business

functions, like sales and production functions, 143

by providing clear policies and procedures.
(iv) It tries to link the present with the future. = 4 marks

(v) It provides a link between investment and
financing decisions on a continuous basis.

(vi) It makes the evaluation of actual performance
easier.
(If an examinee has only listed the points, /> mark for
each point should be awarded.)

31. | (a) What is meant by ‘informal organisation’? State
any two advantages and two disadvantages of
Informal Organisation.

Ans Informal organisation means a network of social
relationships among employees arising due to interaction 2 marks for
among people at work. the meaning
(or any other suitable meaning)

+

Advantages of informal organization (any two):
(1) It leads to faster spread of information as well quick 1 mark for
feedback. each
(ii) It helps to fulfil the social needs of the members. advantage
(111) It contributes towards fulfilment of organisational
objectives by compensating for inadequacies in the

formal organisation.

(If an examinee has only listed the points, /2 mark for
each point should be awarded.)
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Limitations of informal organisation: (any two)

(1) It leads to spread of rumours.

(11) It may lead to resistance to change.

(iii) It pressurizes members to conform to group
expectations which may be against organisational
interest.

(If an examinee has only listed the points, /2 mark for
each point should be awarded.)

OR
(b) Give the meaning of ‘Functional Structure’ of an
organisation. State any four advantages of this
structure.
Ans Functional structure means an organisational
structure which is formed by grouping of jobs of similar
nature according to functions and organising these major
functions as separate departments like production, finance
etc.
(or any other suitable meaning)

Advantages of Functional Structure (any four):

(i) A functional structure leads to occupational
specialisation since emphasis is placed on specific
functions.

(i1) It promotes control and coordination within a
department because of similarity in the tasks being
performed.

(iii) It helps in increasing managerial and operational
efficiency and this results in increased profit.
(iv) It leads to minimal duplication of effort which

results in economies of scale and this lowers cost.
(v) It makes training of employees easier as the focus
1s only on a limited range of skills.
It ensures that different functions get due attention.

(vi)

+ 1 mark for
each
disadvantage

=2+2+2

= 6 marks

OR

2 marks for
the meaning

+

1 mark for
each
advantage

=2+4

= 6 marks

32.

Q.(a) ‘The activities that communicate availability,
features, merits, etc. of the products and services to
the target customers and persuade them to buy these
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products and services’ is an important element of
marketing mix. Explain any three tools of
communication used by the marketers for this
purpose.

Ans Tools of communication used by the marketers (any
three with explanation):

Y2 mark for
naming

+

1 Y2 mark for

_ . explanation
(1)  Advertising -2x3
(1)  Personal Selling
(iii)  Sales Promotion = 6 marks
(iv) Public Relations
OR OR
(b) It refers to a set of marketing tools that a firm uses
to pursue its marketing objectives in a target market, | | mark for
(i) Identify and state the concept. 1dent1ficat1on
g;)al;])il‘)liam three elements of the concept identified in v, mark for
T . . the statement
Ans (1) Marketing Mix 4
The combination of variables chosen by a firm to prepare
its market offering is called marketing mix.
7> mark for
- . . naming
(11) Elements of Marketing Mix (any three):
(a) Product n
(b) Price
(¢) Place 1 mark for
(d) Promotion explanation
=1%+4%
= 6 marks
33. | Q. ‘Diamond Logistics Company' had a turnover of
%25 lakh during the year ended 31% March, 2022. In a
board meeting held on 15™ April, 2022, it was decided
to achieve a turnover off X45 lakh for the next year.
To accomplish this objective after taking into
consideration the business environment, a
comprehensive plan was drawn. The Chief
Executive Officer (CEO) of the company also released 14, mark for
a plan that would not only guide the thinking of the identification
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managers and their decision-making but also
channelise their energies towards achievement of this
target.

Identify and explain the three types of plans discussed
in the above para.

Ans Types of Plans:
(i) Objective
(i)  Strategy

Policy

+

1 %2 mark for
its
explanation

=2x3

= 6 marks

34.

Q. A famous cricket coach, Alam Raza was hired by
Sports College, Indore to coach the college cricket
team for a National level competition. In the first
meeting itself, the Principal of the college announced
that the players would enter into an agreement with
the college. The agreement would state the reporting
time for players on the field and other rules and
regulations. Failure to obey the agreement and rules
would lead to judicious application of penalties. It was
also announced by the College Principal that the
players would receive orders from the coach and they
would all be responsible only to the coach, to prevent
confusion regarding tasks to be done. The coach was
very determined to train the players to win, as the
entire responsibility was on his shoulders. He
promoted the spirit of mutual trust and belongingness
among the team members without which he felt it
would be difficult to win. The players were also
enthusiastic and the training started in full swing.

Identify and explain the three principles of
management discussed in the above case.
Ans Principles of Management

(i) Discipline
(ii)  Unity of Command
Esprit de Corps

15 mark for
1dentification

+

1 %2 mark for
its
explanation

=2x3

= 6 marks
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